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def my function():

This is a docstring that provides a brief description of the function.
It explains what the function does,
what arguments it takes (if any), and what it returns (if any) .
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#Function code goes here
pass
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import datetime

def greet():
current time = datetime.datetime.now ()
if current time.hour<12: # A0 2R G T E N T 12 5
print ("B L4 A DREFH K" FAT BN 4 10 1) i 0
elif current time.hour< 18: # AR TR E] /DT 18
print ("FAAF SLEBE AR AT ) #ATEDT AP 4 14 ) 46 i
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print ("B L4 BLEHE D TR #ATED IR 14 10 ] 40 3
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greet ()
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def greet (name, greeting) : # T I SR B S
print (greeting, name)
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greet ("Python", "Hello")
greet ("Python", "Hello", "Good morning") #ﬁﬁ%ﬁﬁ"]ﬁﬁ%?ﬁ*ﬂ%%%ﬁ\ﬁ#ﬁ
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def greet(name, greeting): #%)\(IZI#[
print (greeting, name) # 4T B[] 45 1
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greet (greeting="Hi", name="wang" )
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def greet (name, greeting="Hello") : #greeting ERINES
print (greeting, name)
#4585 FH R A 2 K0 1 pRi 5

greet ( "wang")
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def my function( * args): # % args Fezn i AR HUE S 5L

B Wil 2 B i ) S HOFATENEAT]
for arg in args:

print(arg)

# 18 FH R &K
my function(l, 2, 3) M 123
my function('a', 'b', 'c'") #Hi: abc
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def my function(* * kwargs) : #xxkwargs e/ 0] AR B 1) Ak T S 5L
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for key, value in kwargs.items () : #items ()R [Bl—/ 405 L8 FSEN L4 5] %
print (key, value)
# 8 JH PR %L

my function(name="Alice", age=25, city="New York")

#%iH : name Alice age 25 city New York
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def make_ice_cream(flavor):
ice_cream_recipes = {
"It P kR T,
"HAE: AR
"R ERIGHAL ",
# HRINSE £ DI LA RC 7
}

if flavor in ice_cream_recipes:
recipe = ice_cream_recipes[flavor]
print(f"iil{F{flavor} 1of kit {recipe}™)

else:
print(F" At AR, BT {flavor} DIk ok iHE T . ™)

# Wik
make_ice_cream(" I /i")
make_ice_cream("FiEE")
make_ice_cream( "4 5")
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def function() :
# € SR AR B
local variable = "1 am a local variable"
print (local variable)

#95 FH R Ak
function ()
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def function():
# 8 SRR A
local variable = "I am a local variable"
print (local variable)
# 78 JH B %K
function ()

print(local variable) #ARAR, R A R R AL i X RETE B R0 A T
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global variable = "I am a global variable"
def function using global variable():
#7E PRBCN R A8 4 )R 2R 1
print (global variable)
# V8 FH o K
function using global variable()
##i: I am a global variable
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import random
# AR, FoRIE T EAER

hat = ["4Iar, "EET, HBE, RG]

def draw_ball():
ball = random.choice(hat) # H&AEE, Fe Yk
hat.remove(ball) # MIE~HLES B dh 3] Y Bk
return ball

# e B
for _ in range(4):

print(draw_ball())
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add = lambda x, y: x + vy
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# [EARE - il SR
customize_order = lambda dish, customization: f"{dish} ({customization}) "

\ def place_order(dish, customization_function):
# 1 H 45 e A
customized_dish = customization_function(dish)
print(f" ¥ kr): {customized_dish}")

# E b ATE R
spicy_order = lambda dish: customize_order(dish, "#ik")
vegan_order = lambda dish: customize_order(dish, "#{")

# R
place_order("/[*/4i", spicy_order)
place_order("{ij"", vegan_order)
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def fibonacci(n):

if n <= @:
return []

elif n == 1:
return [@8]

elif n == 2:
return [8, 1]

else:
fib = [8, 1]
for i in range(2, n):

fib.append(fib[i-1] + fib[i-2])

return fib

n = int(input(" i LR R RES e ")
fib_seq = fibonacci(n)
print(fib_seq)
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